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1. Which one of the following options has a
pair of equivalent fraction ?

4’y
U 612

o2
) 0w
{E) None of these

(D) All of these
Answer[]

How many Thursdays were there in the
year 2010, if Jan 1% 2009 was Thursday?
) 55 (8) 53

gocs to school at 8AM and returns
How many minutes he was away

house?

TOTAL QUESTIONS : 40

MAXIMUN MaRKS 1100

cqual marks 2.5

i [ the question papes with PanPenc|

£ ntil you are asked 10'd0 50,

(A} 360 minutes
(8) 3600 minutes
(€) 306 minutes
(D) 356 minutes

(L) None of these Answer["]
Find the perimetre of the following figure:
A
S
o, 3em
8 Sem €
(A) 11em (8) 12¢em
(€) 1aem (D) 16
(£) None of these Answer[]
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5. Stevegoesto playa match with his friends.
He goes 6 hours 45 minutes after the time
shown by the watch, At what time does
he go to play?

(A} 2:30
ici 2:45
(£) None of these

(B) 2:35
(D) 3:45
Answer[]

6. What is the expanded form of 90504027
(A} 9000000+ 50000+400+2
(8) 9000000 4 500000+ 400+2
{€) 900000+ 50000 + 400 +2
(D) 90000000+50000+ 400+ 2
(€) None of these

Answer[]

7. Point A and B are 100 kilometres apart. A
car starts from point A and covers 7
kilometres less than the half of the
distance between two points. How much
distance is yet to be covered by the car?

(A} 53Kkm (8) 53km
(€] 57km (D) 58km
(€) Nore of these Answer[]
8 12x13451:17x5-4=2
(A} 168 (B) 157
(C} 166 (D) 167
(L) None of these Answer[]

9. Which one of the following is a line?
We—
e

©
(D) All of these

€) None of these Answer[]

10. The clothes require for a shirt is 2.5 metre
and for trouser is 1.75 metre. Steve wants
to make 4 shirt and 2 trousers. How much
clothe does he require?

{A] 18.5m (8) 13.5m
(C) 16.5m (D) 15.5m
(£) None of these
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Answer[ ]

11. James has Rs 5600. He gives half to his
and 300 more than 900 to his wife.
much money is left with him?

(A) Rs. 1400 (B) Rs.1800
(C) Rs. 1700 (D) Rs. 1600
(E) None of these Answer

In a year if 5*" January is Sunday t
which one of the following seris
represents the dates of Wednesday in
month?

(A) 5,12,1926
(€) 5,13,20,27
{E) None of these

12.

13. How many 50p coins make Rs. 36.507
{A) 70 8) 2
(c) 73 o7

(£) None of these Answ

. In a division sum, the dividend is 598,
divisior is 9 and the remainder is 4.
is the quotient?
(A) 65
(c) 67
(E) Mone of these

(8) 66
(0) &8

. How many faces does this cube has?

(A) 8
(6) 3
(E) None of these

(8) 12
(0)6

. Given below a question based
multiplication property. Name
property.

2x(15%6) - (2x15)x6

(A) Distributive property

(8) Additive property
(€) Associative property
(D) Al of these
(€) None of these

17.1n a TV showroom the number of TV
sold on sunday is 452 and after Sun
each day the number reduces by 121
Saturday. How many TV sets are sold

Saturday?




[image: image3.jpg](A) 392
(c) 378
(£} None of these

(8) 382
(0) 320
Answer[]

18. You have a number that is 75. Subtract 16
from it and add 39 and finally divide the
result by 14. What will be the final result?
(A)9 (8) 8
(ci7 () 6
(£} None of these

Answer[]

19.1n the following figure, out of total
number of triangies, three triangles are
shaded. Represent it in fraction?

s _
n B (8) 2
5 3

(4] n ?) 9

(£) None of these Answer[]
20. What must be added to 8654 to obtain

1300522

(A} 121389 (8) 123398

(€) 121498 (D) 121398

{£) None of these Answer[]

21.The correct multiplication for the
following diagram is ?

(A)3x7
(c) ax8
(&) None of these

(8) 3x21
(D) 7xa

Answer ]

22. Find the digit at hundred millions place
in the given number.

05426780525
a7 (8) 4
(€16 )2

(€} None of these Answer[ ]

23. Serena has Rs 100 note. She wants to
changeitinRe 1, Rs2, Rs 5 and Rs 10 notes.
Find the number of each note if she wants
to maximum number of notes out of Rs
100 note?

{A) #e1=93,Rs2 - 1Rs5=1andRs 10~ 1

REFAOM "10/BHN

(6) Re1=93,Rs

Rs5=1andRs10=1

(C) Re1-83,Rs2=1Rs5=1andRs10=1

(D) Re1=83,Rs: Rs5-1andRs10=1

(€) None of these Answer ]
24. I the figure given below AC= 2 more than

twice of AB and AB = 4cm. What will be
the measurement of BC?

Aem
A, 8 c

(&) aem M) 5om
1) Gem 1) Bom

(F) Noneof these

Answor[]

25. What would be the product of all the
numbers given in the figure?

(8) 710 (8) 610

() 810 (0) 720

(£) None of these Answer[ ]
26. Which one of the following is a ray?

[ . B G

© (1) Al of these

() Noneof these

Answer []

27. The following graph shows the monthly
temperature of a place. Which one of the
following options represents the

difference between temperature in July
and December?

(A) 257 (8) 157
(c) 35° (0) 10°¢
(€) None of these Answer[]

28. Which one of the following options has
correct ascending order?
(A) 2504, 2605, 2350, 2980, 2150
(B) 31504,32053, 33520, 31750, 31952
(C) a5042,46021,47003, 47020, 48501
(0) All of these

(E) None of these Answer[]
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and (= then find the

Th H T o value of 10 O z7$ 6
3 e T (A) 415 B) 315
o 5 c 3 (c) 515 (0)215
TP .. (£) None of these: . SRR Answer[]
0 i - =
A) 5 1 er is 40.
s e Then find the n
(A) 8
{£) None of these answer[] | (C) st

30, Write the number represented by the
following Abacus. 35, Convert 160

| metre. F

(A) 162005m  S(B) 162002m

(€} 161005m (D) 161002m

(€) None of t Answer[]

36. Smith ‘machine. If he puts
anynt machine, it first divides’

(E) None of thes

{A) 747 ) (8) 847
(©) &17 () 947
(£) None of these Answer[]

31. The following picture shows the number
of students and marks scored by them. If
the marks for distinetion is 75% then how
many students get distinction?

Kev: W = 1student
A) 21 students () 20 students
€) 22 swdents (D) 19 students
£) None of these Answer|

32. Two students calculate few numbers and
conclude that Distributive property of
addition is also applicable in subtraction
of numbers. Which one of the following
s correct for the above conclusion?
(A) It is possible
(B) It is not possible

20, Write 22 in decimal
100 .
(C) It is partly possible. (A) 125 (8) 125
(D) Al of these (C) 1250 (D) Al of these.
(E) None of these Answer[[] (E) None of these





